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e following graph shows the time

taken :
'Es_‘—lgz-cl—l-f&—@m people to complete the w;ﬂ.; .
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' Rakesh Chaman Axay  Ramesh

N wmy MWW

R S

s1e7a et w0 8 | e Safea.

} = d Frl #) e Rl f e s & 7 4

Sneha is twice as efficient as Kailash
and together they do the same work in
as much time as taken by Chaman and
Axay together. In how many days
Kailash can complete the work
individually ? .
(A) 10 f&/days (B) 5 fe/days

(C) 15 f/days (DY 20 Re/days

af & wh T Ty FH H A B W
3 1 Tt e w7

What is the total time taken to complete
the work if all of them work together 7
(A) 29/40 fé/days (B) 40/29 fer/days

Mnhu; = “

¥ e g 1 = ()

5 3fv
0 A E, @ #1,1: wiket fomera fol
T et
er working for 5 days Rakesh is joi 5
by Axay. If they cum;hlc IJ':: Jﬁfm
work in 5 more days, in how many days
can Axay alone complete the work ?

A
A

{A) 10 TE3/days (B)/5 fﬁmdays
() 15 feardays 20 f&A/days
A 3 a3 # & v fan |

3 |
M i gm a3 @ 3 5 A d o wm qo
|- @ feorm | g il %) A THem 2 3,000 %
faan | fefen o fren femmn 7

gy Bigesm and Axay started the work jointly.
A few days later Mihir also joined them
and thus all of them completed the whole
work in 5 days. All of them were paid total -
T 3,000, What is the share of Mihir ?

(A) T 600 (B) T 500 (C) T 700(D) T 750
£. 11-15) : & T an s fafim =d & @
(7o) o W, 3R Jare & =i g
wifta it 1 wfewa gfa 2 | 9w aTE =
g it v Frefefes v % I

(Q. 11-15) : Given bar graph shows the percentage
of jobs held by peoples of India, Afghanistan and
Nepal in the Gulf over the different years. Study

the bar and answer the followi ons: [~
70 ) ;%f
ﬁﬂm |

2021

0 (i) s = B
mi' Iﬁ“n{aﬂnim“?i:ﬁ\mjg — w0 11, afe = éms 3N 2 :|3ﬁ -&m _
(AY3 T (B) THT AT Jho %gﬁ}? uuﬂ?%nldﬂﬂ i
() wwasww (D) o M {1 2018 (o) # A0l F el
Which of the following groups take 4G o0 i udl f — NEE

minimum time to complete the work ?

(

If the ratio of the total persons who are

0
L™ doing their jobs in the year 2018 and

(A) Chaman and Ramesh

(B) Rakesh and Axay -1§:°
(C) Axay and Ramesh
(D) Chaman and Axay ( Val

o 021 is 3:5 and the total Indians in the
Mulrm 2021 are 4400, then find the total

Nepal people in the year 2018 i
(A) 2250 (B) 1525 {C) 1575 (D) 1680
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12. "TE o —
- T 2018 8§ e o e T
ﬁmn:;ﬁw*ﬁ?ﬁ’ﬁ . 16-20) ; 321 F]
ad 2018 3 2019 ¥ gq w7 % I 4
- ré el 3T
admlﬂaﬂtz EFTHTI’IH%:EEE, wiferat ©H al
ﬁaﬁﬂﬁzﬁ Ul‘?ﬁﬁramuﬁr(nﬂ} #at 3 * I ia carefull
If el wen WA I | 0 1e20) : Study the date FEEY Ed
the total Afghanistan people in the | answer the questions E1vE; 2 sold
year 2018 are 2340 and ratio of | The table EQ‘WL ¥ A
anistan le i h 5 geper ant e
and 2019 1s 45,88, then find the i ™ | o Fﬂ?‘i’- Db
number of persons in the Gulf in the Item —GE'I—E'[EEF FW-"T‘!E
years 2018 and 2019 together. %;l_i__—ﬂgﬂ’"—'ﬁ—_‘i‘q
(A) 20800 (B) 22000(C) 16700(D) 17500 #g____i%g—f—-—fﬁ——g%ﬁ
13. af2 2018 & 2022 7 Wi fg o e # - fEye- . £
afirdl @1 AR 2: 3: 3 4: 5 8, W 2018 #ﬁ,’fﬁ;ﬁ’#"u% ]
ﬁzuzzmmﬁﬁqnqaﬂa;am{nﬂ}ﬁ e ook 140 | 20% 14
WAl st ST A =TT
if ratio of total persons in all the given: | 1§ afz sl 1 o T3 T gy d
ars from 2018 10 2022 is2:3:3:4: 5, 30% At & mgﬂ?ﬂ?ﬂgﬁﬁz
e find the ratio of total Indians in the' 250, ke e STEN %, @ A qm
Gullg ;;er all the given years from 2 ” U
(A) 25:23:21:22:20 ; 'f“‘“W“PF‘“‘"m".R”‘Eff‘*mﬂm
(B) 23:27:25:24:30 the cost price of Shirt and the shopkeepe
(C) 23:27:21:22:20 Yo~ wants to eam 25% after giving 35%
(D) 24:27:21:23: 20 —r &?ﬁa%ﬂ[ﬁ?}%%ﬁ m]?mﬂ
14, afxad 2019 # @@ (76w) # FE .
& den i 2022 3 wrél (mew) A 17. gtmiqmgﬁﬁaﬁzzréJaﬁ,m
ST % e e % e g, 3t 1 feraTe | S ¥R
it & @) (ew) A Yo & ww TmRnd? ‘
%1 AT I HI | The shopkeeper sold 2 Shirts, 3 Eye
If total Indians in Gulf in the year 2019 glasses, 2 Pants and 1 Book to a custom
are cqual to the total Afghanistan people What is his approximate average profit?
in Gulf in the year 2022, then find the (A) ¥ 56 (B) ¥60.12
ratio of Nepal people in Gulf in the (C) ¥52.15 (D) T471.75 ﬁ
Fes Ve years.
(A}2:5 (B) 1:5 (C) 2:3 (D)3:5 18. w3 ;‘"ﬁ' 2 &n 3w 1 % W
15, af2 2020 § g1 =fs 2021 # FeA YA g”'mma“mmmm;igwmﬁﬁﬁmﬂgﬁ.
st & 7 T & ok ad 2020 H Fw neha purchased 1 Shirt, 2 Bags and | Pt
wredt 5775 €, @ A s o 2020 & and sho gsand |
/LA Py Bkt Crad T pkeeper gave 5% additions!
gﬂ L S| mnur}tﬂnﬂlEnmrkedpnc:,ﬁnﬁ#
ftrera it € | approximate total profit of the shopkeep®
If total persons in 2020 are three ti ' (A)80.95 (B) 72.3 (C)65.9 (D)784
the total Nepal people in 2021 mdhmm ' . Y . (D) 78
the total Indians in the year 2020 also | 19. <98 %1 3ifha 7e9 s & sifte T F
5775, then find that the total Indians in am fesen wftrera arftres @
the year 2020 are how much "ans m Marked ; J s
moré than the total Nepal peoplein he aateetmnthe § of Eye-gless
year 2021. pal people in the tﬁap;(’ﬂ’:’mm‘f'}' how much percent moré
(A) 2.5% (B) 0% (C A) 500 marked price pf Book ?
i — ) 4% (D) 5% OF 56.59%
[ -n L
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What i i
a1l 18 the ratio of the discount percent

of the Eye-glasses and Book sold by
shopkeeper ?

(A) 91:57 (B) 25:16 _,_ff”f'
(C) 57:91 (D) 16:25 .

@)
ﬁ-ll-:ﬂ:mﬁ'ﬂﬁ-‘iﬁﬂaﬁiﬁlﬂﬁm

ms‘a’tqﬁzﬁﬂm%zms-m a
znzﬂ-zaaﬁmﬂ:mm P, Q, R 3 S T

ﬁmmm{raqﬁsﬁ}aﬁamhltlfmu=
farsht — o =49)

(Q. 21-25) : The questions are based on the
following table chart which represents the
advertisement expenditure (in ¥ crores) of a

trading company from 2015-16 to 2020-21 on
four of its products P, Q, R and S. (Profit -
Sales — Advertising expenditure) [S0
| @d/Year r Q R 'S
2015-16 | s0 | 75 | 0 25
201617 | 25 | 75 | 50 | 25
501718 | 50 | s0 | 75 | 25
2018-19 | 75 | 25 0 25
201920 | 50 | 75 50 | 50
502021 | 75 | S0 | 100 | 25 |
o 70 =791 o feT, fesh! 36 SPTC R :
Sales for given years are as follows :
2015-16 7 300 g / crores
2016-17 T 450 HUS / crores
2017-18 7 500 TS / crores
2018-19 7 150 SUS / crores
2019-20 7 600 FAIZ / crores
2020-21 T 700 F1S / crores
21, form i 3eare Q 1 o e i B, AR
vl ol T gt R F20% R 7

In which year the product Q's profit is
the highest, if its sales form 20% of the

22.

23.

a5

25.

[ SN W S S —rt—
%ﬂ‘l faref) 30% w2 nrq.v ﬁ?

2021-22
2021-22 % fom % e & 36 A

@3, fam Z0 @ 2019-20 # 2020-21 7
et famma @ 93 A 1 2021-22 F fere
am a7

[

5021-22 grow at the same rate

from the total advertising
expenses 2019-20 to 2020-21. What is the
approximate profit for 2021-227
(A) T 300 %1% / crores
(B) 2 400,12 F1% / crores
(C) 7520.122 / crores
(D) T 212.225 / crores
ﬂféaizmﬁ-nﬁnmmaamq
frgrT =@ S & A 3 2020-21
% cnpn @ e # 3k s @l & fer T
9 @ 2, a1 fir @ & 207 @™ wEE

w2 7
If the advertising iture for all the
products in 2016-17 is halved and
that in 2020-21 is doubled and for the other
itmmahwﬂiew,ﬂwnd:.:ingwﬁch
the profit is the highest ?
(A) 2019-20 (B) 2017-18
-(C) 2020-21 (D) 2018-19

feu o = 4, S
R fasTe =14 & wfowa
w0 d fa

7°/ 64, 202122, the sales of the company
30%. Total advertising

/1o

dec

SR 8 S
Among The given years, the advertising
expenditure of product S as a percentage
of the advertising expenditure of P and R
er is least in
(A) 2016-17 (B) 2017-18
(C) 2020-21 (D) 2018-19
af2 = 2020-21 % 3@ P, Q, R 3N S
Rt ogumA 2:5:1:2 8, @ S & @™
Feft o Q 3 e 1 e fohe T & 7
If the ratio of sales of the products P, Q
R and § in the year 2020-21 is 2:5: 1: 2,
then the profit of S is approximatel :
what percentage of the profit of Q in thz

same year 7

total sales every year ?
(A) 2019-20 (B),2020-21 A) 38.33%
(C) 2018-19 (D) 2016-17 EC]} 453;2; EE; g%g;ﬁ;ﬁ
. (1
- . - L - ey A

) _
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(A) Gl

©) 33 g

By Whom

Ocated g the

180 » olka

(A) Lt_}rd William Bentinck
Richard Wellesley
Warren Hastings

(D) Jonathan Duncan

T WA e e T awen wgon

(D) A 2
Fort William College
ta was founded in year

e Freafefar da s
(#) Wrefrsm (B) Rt
(C) &ram (D) g

Which of the following was the first
Harappan site excavated in Independent
India ?

(A) Kalibangan  (B) Desalpur

(C) Lothal (D) Ropar

wEA & wafe, e it u wAd ®
=0 # frn =i g T ot frd gemerEre
# et W T Hfea feman mam A ?

(A) vmefa (B) W

() i (D) AT
Prashasti of Samudragupta in the form of

a poem in Sanskrit was composed by
which poet that was inscribed on the

3l.

l’iﬂﬂ;‘;”ﬂ“ﬁ e # A 8 T
e £ 7
(A) T2,
(B) s, wa
((c) 3=
() ﬂm'ﬂ Mahavira and his
The teoch) e ransmitied_ o, b
several ccntll]I;‘E':i ;c:l'}; ago, presently
?I:::: :brguta?ﬂilablc at which of the
following P'“F:f' !

ihar
(A) Patna, B', Uttar Pradesh ﬂ

(B) ShrnvasnG -t
valabhi, Gujard
Eg; Shravanabelagnla, K arnataka

sigem @ et
A afen 8 i i & Pt
0 el i fFRm Ade | () 1921
(i) g it 3 Azt H | (b), 1918
771
(i) o 3 I TE ) 1946
e fo
(iv) e i fre gl £ (d) 1928
# ggar

Match the following events of the Indian
National Movement with the year they

Ashokan pillar at Allahabad ?
(A) Bharavi (B) Bhasa had taken place : _
(C) Hamm (D) Banabhatta (i) gv::’m:? movementin  (a) 1921
ol
29, fiaw @ fewet @ amaes o, Frefefea o (i) Mahatma Gandhi visited (b) 1918
8 forw i & " Noakhali |
(A) gr:; mran (B) Wm (iii) Erﬂnilti‘l:}j;ﬂl:cgan wearing (c) 1946
s o e T (iv) Mill workers strike in () 1928
izr Khan was a ruler of Delhi, Ahmedaba
belonged to whi : d
dynasties? ich of the following E;;l ET‘”’ (ii)-(c), (iii)-(b), (iv)-(a)
% | i)-(d), (ii)-(b), (iii)-(c), (iv)-(a)
(A) Turkish Dynasty (B) Tughlaq Dynasty D - , (1v)-(a)
C) Sayyi : (C) (I)(d), (ii)-(e), (iii)-(a), (i
(¢) Zayyid Dynasty (D) Lodi Dynasty (0) (- B % {{li:)-{a}
KM3 ; 3
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After suspénding the Non-Cooperation
movement in the year 1922, Gandhiji
was arrested at  Ahmedabad and
sentenced to simple imprisonment for
how many years ?

(A) Four (B) Three (C) Eight (D) Six

WA 'R afufam, 1935 ym & fe

fafew wwe gro wite wed s sifufam
Ul | o1 &9 & gifta srfafam, o
B % HOI, g 3E- e |

fanfom fomn men e srufq e w@ww
sfufm, 1935 3k |

(A) BT BIHTT q, 1935

(By- =l g wfufaam, 1935

(C) =83z HThR Afufrm, 1935

(D) forem wwwm arfufyam, 1935

The Government of India Act, 1935 was

the longest Act passed by the British
Parliament for India. The Act originally
passed, being very lengthy, was divided
into two separate acts namely, the
Government of India Act, 1935 and

(A) Government of Dhaka Act, 1935
(B) Government of Burma Act, 1935
(C) Government of White Act, 1935
(D) Government of Cripps Act, 1935

e & o 3 @ LA
wiftra ¢ fam o afit 3w aiw (3w &
3w §m) | Rt sgem gon a1, W
Frerfrfiea & @ fra T @ S sman o ?
(A) 8 & e (B) & e
(C) FeuTers STEIe (D) whifeerdl e
The partition of Bengal infuriated people
all over India and Swadeshi Movement
had taken place in deltaic Andhra, it was
known by which of the following names ?
(A) Home Rule Movement

Vande Movement

Vandemataram Movement
(D) Revolutionary Movement

i § @ s

B e L S —— T

34,

36.

37.

38,

S e nnm— i

# A Rl O () s

Wi wm AT A 0

(A) TerETR (B) fermmez

(C) I (D) w-fagfirm i

Which of the following is also called

“Brown Coal™ 7

(A) Anthracite (B) Lignite :
{C) Coke (D) Sub-bituminous i .:
firdt % @il afv wgEt A gl & b = ;

HO = 9 @ oy Ee R, T oam
) v wwerd ke
(A) & wem (afz 4%)

(B) 9@ w0 (afz #7a#)

(C) wa mferar (afzr za=1)

W) e T (atet Fm)

- All the space between particles of soil and
gaps between rocks are filled with water,
the upper limit of this layer is called :

(A) Water Bed (B) Water Level ‘
(C) Water Table (D) Water Layer

13 94, 1943 %I guTT=g 418 frfafea d
A fore e o el wforan 50 2

Ay Tafeerd @ (B) @it FEm A
(C) mawg@® (D) vt ™
Subhash Chandra Bose had come to East
Asia on an invitation from which of the
following on June 13, 1943 ?

(A) Rasbihari Bose

(B) Barindra Kumar Ghosh

(C) Saratchandra Bose

(D) Chittaranjan Das

femrera &1 w1 @1 v AfeE gro arh wi
sremfen aerme A a2
(A) Prarfers avft (t9)
g
.(C) (t4)
(D) FH1S
Which part of the Himalayas is
composed of unconsolidated sediments
brought down by rivers ?
(A) The Shiwalik Range
(B) The Assam Himalaya
(C) The Purvachal Range.
(D) The Kumaon Himalaya

KM3
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40.

41.

--------
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Where was the first Export Processing
Zone (EPZ) of Asia set up in India ?
(A) Falta, West Bengal

(B) Kandla, Gujarat

(C) Visakhapatnam, Andhra Pradesh
(D) Santa Cruz, Maharashtra

Sre1-A o et e e & o ¥

@ am wrer #f o an e ¥ @ mg‘l +

w31~ At e 1 w2 7
(A) T Twi-g

@) el Wi (SIS FE)
(C) wrifirss awi-g
DEGEEEE

El-Nino is the complex weather system
that appears once every three (0 seven
years. Here what is the meaning of the
word El-Nino ?

(A) Happy Monsoon
(B) Child Christ

(C) Early Monsoon
(D) Monsoon Child

et @ form Y 250 st
(820 i) 7% 39 73 1 & et & o gt
TR e w1 e T A

Which of the following desert contaj
large sand dunes up to 250 metres (Hi.'nt'sl'
feet) high and the largest contiguous areq
of sandy desert on Earth ? .
(A) The Namib Desert
) The Sonora Desert
) The Atacama Desert

(D) The Rub a] Khali Desert

KM3
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43.

phase, Operation F]Dod
premier Milksheg,
" dia's four mg;
ers in In : Jor
cities. Which of gy,
¢ was not the part of thig

jts first

During f India’s

linked 18 ©
with consum
metropolitan
following €11
ﬂpgrﬂliﬂn 7
(A) Kolkata
- (C) Mumbai

— R cC TR F Yamy
ﬂﬂﬁﬁﬂmy
ETHTﬂaE'?m Fd AR IEEEN 5

ﬂwm@mmmm

(B) Bengaluru
(D) Chennai

(B) w94

(C) (D) &

Which edition of the Five-Year Plan
aimed at accelerating food grain
production,  increasing employment
opportunities & raising productivity with
focus on ‘food, work & productivity'
and that was very successful ?

(A) Fifth (B) First

(C) Sixth (D) Seventh

froffas @ = wdln sfls

- e & s 80

(A) . #i.37R. gt

(B) were it

(C) w. favdvatan

(D) . 777 srerm

Who among the following was “the
father of Indian Economic planning”™?
(A) Dr.B.R. Ambedkar

(B) Mahatma Gandhj

(C) M. \Fisvesvmyn

(D) Dr. Norman Borlaug
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(A) “-ma":mqﬂmﬂqlﬂmﬂ?gfy? 49, ﬁﬂ%ﬁnﬂ_ﬂﬁmmﬁm-ﬂmﬂ

(B) Hgpur famferm s s 4
(©) :
Whﬂm:;jm (D) =, wn,mm. firm Mlﬁﬂah?w | HT'ET Lk
s the first Chief Election (C) #mgm (D)

Which of the following animals

possesses a  well-deve)
vascular system 7 -

Commissioner of Independent India ?
(A) T. Swaminathan(B) Sukumar Sen

(C) RK. Trivedi (D) Dr. M.S, Gill (A) Starfish (B) Spon
v ) c

A ufwen uftwi @y | 50, 1w w wfaig frafafaa

"9 7 9T Tift &1 T A 3 w1 1 fonde oot o B 9 i
aTe it § 2 (A) =Ter® w1 v (wdtfrae)

(A) e || (B) 3 | (B) g :

(C) sream 11 (D) Fwm v © gfwﬂ“f;mﬂ“"ﬁ (Fprwa-wr) &
Which chapter of the Equal Remuneration. (D) e ) A

Act, I??ﬁ contains  payment  of .The resistance n? a conductor does
remuneration at equal rates to men and depend on which of the following r:c:m:}.o;
women workers and other matters 7 (A) Material of the conductor '
(A) Chapter Il (B) Chapter I (B) Length
(C) Chapter III (D) Chapter IV ECD:,!F H:;?;!%u;f'ﬁﬁnﬁmm

47. Sewd f w4 frdeen fe2 & | 51, vl s % fem sz § T2 wiv
frafy yamw #i = & ot sifm | tﬁ;wﬁﬂﬂmﬁmﬁhﬁn

I WA AT R FAFAL? T, T e T e e o
(A) 792 82 H (B) HIATE I (A) FTRT 165  (B) =2 176
(C) W (D) Taea-SiE H (C) FTWT175 (D) T2 164
Which salient feature of GST allows the | ﬁ;iﬂ“ﬁ%wﬁg E:fﬂm
seamless flow of credits and reduces the the Legislative Assembly; the Gmﬁmm
tax burden on the end consumer ? may send messages to the House™ ?

(A) Article 165  (B) Article 176

(A) Input Credit Tax
(C) Article 175 (D) Article 164

(B) Online Compliance

(C) Composition Tax 52, Pefafes § &+ fren sl snfv
(D) Destination-based Tax ATeEdl 3N 3= |l & e,
fofat 3t ame % faam w1 & S

8. Prefafaa § 3 frg ome W A FAE
. WA TEAF@L?
Ruriger % T B TR B IE R, - S o e it R

fort arafire wifteal & &9 & o1 TR ? (B) Wt e e
(A) A (B) TqATEH (©) gg;amm
HTgE HH @fwaﬂtmﬁlﬂ (D) e 31 e .
Which of the following provides a

hich of the following matters Union
e oy comprehensive  database of orders,

Legislature alone has the power to legislate ¢ " s
' : udgements and case details of District
itlmtm!mmasﬂcs:dm:y?awm? JannguI finate Courts and High Courts ?
(A) Livestock (A) National Law School of India

(B) Animal Husbandry (B) Indian Law Institute

(C) National Judicial Academy
(D) National Judicial Data Grid

(C) Cyber Laws
(D) Trade and Commerce

. 9
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53. mm 'a-., i —
‘?Aqfam) i'& ﬁﬁ;ﬁ? -ﬂa .a; m 'q,‘.\‘ po e e e e el S A R S
- g - T ST 2 ' {iﬂmfi « 2.92)/£0.0073 x 145 x 0.7) = 2
Them &) m(@, l “ (A) 1.45 (@/0.8 (€) 2:40 (D) 3.25
Humgap mm s, {m ) , i & 07§, IEH gaq 53 n
fi an Brain is kn neurons in th mﬁﬁﬂﬂwﬂmt G

ollowing name ? own by which m‘thl= i e & a7 8 3t d*alﬂi d
(%)S}rnay_ . ¢ ‘ﬁmaﬁlmﬁuﬁsﬁn‘m?ﬁw W
“ (C) Dendrite {ED:; ﬁi‘.‘,’ﬂl“ ﬁﬂfaﬂmﬂﬁﬂ;ﬂilsﬂ%mﬁﬁmt
54, mF‘ e - Lfﬁmaﬁ[ﬂjﬂ S & A T
ind the sum of the r:ﬁu.;“ag: L \ & T afz 4 wf 3T FTA i af &
L wing : - flﬁma%faﬁiﬂwﬁﬂﬂﬂwmaw'
+ +—+_+__l_ 1 11 (A) 57 fawemm fopem &7
9 6 12 20 30 2% 1 LAk (©) 56 farerram (B it
(A) L] | % ¥\ 14 In Geeta’s opini & _'EE.T
: (B) I opinion, her weight is greater
c : 2520 . than 55 kg but less than 62 kg. Geeta's
T U L T
J,,.,Sﬂ kg but | m;:n“cl ¢ is greater than
o st o2 A A L G i b
'ﬂ'ﬁt? | 21 189 s | i: SEkEA"-a" of them are correct n
For what val digi‘t:r:s“m“w' what is the average of
r{_xle]_ rl.lﬂ of x, sl;tf L“ﬂ“ (A) 7 tk;:?bable weights of Geeta '3
121 189 = | is correct 7 g (B) 56.5 kg ﬁ
(n) 3969 (B) 2 ar®A = © 56 kg
- )21 (C)63 (D) 14 (D) Data i
. (81" x 37 x 3 x {GI}?'“_; {ﬁ}ﬁ_ 61 ﬁq&.[;madcmw
(A) 299 (B) 288 (C) 388 o 18 | few #  fien e 3 areeia &
57. ﬁmﬁiﬁn‘hﬁﬁﬁﬂaﬁqmﬁmf; {h]t{;ﬁmgg & )
27 1 a<l gRA - S
(B) -
ﬁ&"w (B) HiiE ofrs (C) Fa=t o ST
(C) Téfmufae (D) 4% (D) T ? "
Which of the followi ]m::‘ ¥ ure . } ‘lﬁ IS A E - T
E;Inpc Mangocs ? ng acids is found in 62. ‘EUHIEYUT :
{c; Acetic Acid_ (B) Pormie Aul (A) mw o ihabanball
88, fr=fafea i 8 frg s9wm zoic Acid (C) Tﬁgﬂ@m |
gmﬁmﬁmmmmw (D) e & e 1%
) o T g"‘lﬂmt 63. fig | K3
(A) Hnfizt & 2 . Ry dama s —
R g | G ek
uws:;chmﬂf the f“"f-‘IWirSs imat-t'a 64. P (D) Rifi=m —
ol b Deenre waderyr et b | DT v &
murqua,“,-"t;f o take water ;’:,ﬂpl:att_er 1% % AT § 7 i = mﬁv_q
{%J} gfannm:mr ng('?ﬂ : . | Eg) e, T, sl © o3
wometer (D) Gaagen, ) ey Al
KM3 auge Adﬂp{ {CJ m‘aﬁ;ﬁ -
1 . ﬁ’q’ﬂT‘ hﬂm O 6 j
0 ] 00 "13
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m@ TAd® 7 b
(A) ST - Frerad
(B) TEIH THTE - FwTa Y6y
(C) TR ~ g
(D) Heft g - iem l;\_:l J
g6. Putthe correct article : L b
President of the United %tcs

will be in Bharat next week.
(A) A (B) no article |

Mf (D) An

s

§1. Aperson “hﬂ has an obsessive wish to"steaf.
(A) bibliomaniac (R)/kleptomaniac
(C) theomaniac (D) dipsomaniac u.——-""ﬁd
¢8. Fillin the blank with correct preposition : (
Football, 135S

Virat plays Cricket
(A) within (B¥beside (C) after (D ides

Read the following paragraph and answer
he following questions : (Q. 69 and 70)

The

Capital of Asoka at Samath. In the original,

there are four lions, mounted back-to-back, on
1 circular abacus, which itself rests on a bell-
chaped lotus. - The frieze of the abacus has
sculptures *in_high relief of an elephant, a
galloping horse, a bull and a lion separated by
ntervening Dharma Chakras. The profile of
the Lion Capital showing three lions mounted
on the abacus with a Dharma Chakra in the
centre, a bull on the right and a galloping
horse on the left, and outlines of Dharma
Chakras on the extreme right and left was
adopted as the State Emblem of India on
January 26, 1950. The bell-shaped lotus was
omitted. The motto Satyameva Jayate, which
means ‘Truth Alone Triumphs®, written in
Devanagari script below the profile of the Lion

State Emblem is an adaptation of the Lion

%

75{}

72.

g a7 A TR

4 )

Ll .
) iy fawe o fra afa w=a )
fmrﬁwhininaiimﬁmtl

iIdren are standing in a row

Fifteen chi | , .
facing north. Saurav 15 10 the immediate

left of Radha and 1s eighth from the left
end. Bimal is second from the rlghl. end.
Which of the following statements 15 not

true ? ‘
A) There are four children between

Radha and Bimal.

(B) Radha is 7" from right end.
(C) There are five children between

Saurav and Bimal.
(D) Bimal is 13" from the left end.
Srd e & w8, T e ww )

AR 74 foramn @1 7€l B, wfA qE |
w%%wﬁiﬂmm#ﬂt.

FER BRI A AR ? ot
(A) ST (B)
G e 85

ennai is bigger than Jaipur, Surat is

bigger than Kolkata. Raipur is not as big
as Jaipur, but is bigger than Surat,

I_

i

_ Kolkata is not as big as Surat, which is

73.

the smallest ?
(A) Jaipur (B) Chennai
(C) Surat (D) Kolkata

é%:gﬁﬂ%’l#qrﬂﬂamnﬁaﬁﬂ:
e reflex angle between the 1 ands of a .'.;-

Capital is part of the State Emblem of India. lc |;r f Eck at Im.-zs is . . ¢
69. Which of the following animals is not (S; :g;l}? Eg; [lg;l;’: I

included in national emblem ?

Tiger (B) Elephant v/ 74, ﬁkﬁhm Tﬂﬂm
| S ©) ]?'mv (A) 161,207,299, 347

10. Mm'f'trh the centre of national emblem ? (B) 189, 243, 351, 405

(A) Lion (B) Dharma Chakra (C) 175,225, 325, 375 /

(C) Bull (D) Lotus (D) 217, 279, 403, 465 ¢
- i — =4 Fa ll-rl- L

- A x 3 11 —  KM3——
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FUT A WA AT Hror @ dhd § a1 @
B a1 | e & gTE @ aewd f |
T A uH wya gEt Hud @ o @
HEHA R | 1wl @) g v Faofa &
Fraferfiaa & @ @ I famen @ A
WYl 3 w3 dav @) al @n d enfar |

YA
I oraw foem 3 ves qam ol & 2n &

w8 fawl & A wn wifen
&1 1 frm e @ |

1. w3 wwifa srgifia shdd gfa
U1 UEE W AU F T A B B
fean @ | |

(A)/afe wua 11w @ i wu | g
wE R |

(B) af2 wua | wror @ 3 weA 11 F60H

wE |
(C) af? 2l e | 3 11 @ad Hvil &
o § | .
(D) af% 2 wua 1 3t 11 fret wm=
S IWE E |
In this question two statements [ and II
are given. These statements may be
either independent causes or may be

effects of independent causes or a
common cause. One of these statements

may be the effect of the other statement.

Read both the statements and decide

which of the following answer choice

correctly  depicts the relationship
between these two statements.

Statements :

I.  The Meteorological Department has
issued a statement mentioning
deficient rainfall during monsoon in

_ many parts of the country.

I The Government has lowered the
revised estimated GDP growth from
the level of earlier estimates.

(A) If statement II is the cause and

statement [ is its effect.
(B) If statement I is the cause and
statement Il is its effect.

(C) If both the statements I and II are

effects of independent causes.
(D) If both the statements I and II are
effects of some common cause.

e L T o e e L

76. Frefefia i & fee

LI

78.

79.

T

T A
areafas aoa | @1g H PE
%mmwwﬂwﬁ*wﬁ

(A) oz arga (B) A Sh, fipy

(C) #it wifir 71TE ‘”’.’ﬁ?ﬁmﬁm

Who among the fql!cW$ has rcen

launched a mobile application * i
wide Real-Time Flood Forecasts 1o Publi

(A) Shri Bhupender Yadav !

(B) Shri G. Kishan Reddy

(C) Shri Amit Shah

(D) Shri Kushvinder vﬂl:;i

prer #r i, gt A ud 3 o

fawe facfafaa @ | f""""mmm,:

wieht 6y ufeen 1 'mwmh :

(A) Ffa ufa (B) g,h

() e ens, Do };ﬁ:’”

Recently, ident Draupad;

unveiled Mahatma Gandhi’s staue u gy

of the following places near Rajgha

%A; Kriti Mandir  (B) Gandy

C

Mahatma Mandir ( ;;Eandhi Bagh
FrORTA A% §rean) 3 e i
fFa @ W wEE 5eE =0 3
UPI T {82 187 1 F=ram o d
(A)y-Hers (B) 998 (C)7E = ()i
National Payments Corporation of Inds
(NPCI) has unveiled Credit Line on L?|
at the Global Fintech Fest-1023 2
which of the following places ?

%fk} Bengaluru (B) Chennai

C) New Delhi (D) Mumbai

T @ A, sfles vt foan som ®
AT M TR & s @ @
WATerd gra feman man o 7

(A) fren wamerw 3t Fwe fawm W
" uftrn wEe™

(B) WiiRe rd siarera

(©) e

O

B _y

had becn organiand by Whih f I

following minisires of Gogernment of i
(A) Ministry of Education and Ministry of

Skill eurship
® try of b & Entrepe w

Ministry of
Ministry of Home Affairs
(D) Ministry of Culture

—

KM3
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82.

QB
4 1. 5vg yyre
0 among the i
received %va@hg'iu.ﬂw'"Sm'},ﬁ;ﬂfﬂ““?
]{athmandu-Ka]!nga Literary lr"IL vl
organised at Lalitpur, Nepa ——
(A) N.P. Saud
(B) Sanduk Ruit
(C) Pushp Kamal Dahal
(D) Dr. Madhav Prasad Pokhre| -

g & H, @i 5SE e (fiamad
ﬁm%mﬁﬂgﬁmaﬁmﬁqﬁ

- N
A 33 o3 A g R 8|

At 918 I A WEH B R 7
(A)

(B) wATE :
43] ferenres - rren - bl U1

(D) @G- &

Recently, Border Roads Organisation
(BRO) ﬁas commenced the construction
of the World's Highest Motorable Road
close to eastern Ladakh. Which of the
following is the World's Highest
Motorable Road presently 7

(A) Umlingla Pass

(B) Mana Pass

(C) Likaru-Mungla-Fukche Road

(D) Khardung-La Pass

frefafaa o & fom @ ¥ ga @
fepan & -?% - 'S
(A) Wrdta fasm deum, srgnereTg

(B) I7e o gfafid, feeeh

(C) W TeUS §¥UH, HEHEET]

(D) wrdra drenfiveh deum, feeeht

Which of the following organization has
recently launched Eklavya — A Research
Affiliate Programme ?

(A) The Indian Institute of Sciences,

e
e et
.....

Sﬂl.llhl:.ﬂ.‘il Asia (TAC) ucml?“aﬁm p
following places ?
(A) Vietnam, Cambodia

(B) Naypyidaw, M
(C) Jakarta, indnntﬁ;?: ar

(D) Bangkok, Thailand

8. W fA ®1 am wad A wm @
/T T % d o
LR ECE R LR B PR
HATAN AT R |
(A) T feam () | simrem foam
(C) #%er feam (D) ==fus feam
Name the da"?r that is celebrated every
year on 15" September in India to
promote the habit of thrift among the
students in schools/colleges.
(A) Kifayati Day (B) Sangrahan Day
(C) Sankalan Day (D) Sanchayika Day
85. fraferfan & & # o1 2w v A 4 firsw

(BRICS) %1 7471 deea T8 #7912 7
(A) 3R (B) ¥
(C) (D) |He W

Which of the following countries has not
become recent new member of BRICS ?
%A) Ethiopia (B) Iran _

C) Cuba (D) Saudi Arabia

86. hmm%ﬂﬂﬁﬁcnﬁmﬁﬁ
JICCRAIQUIEIFIE 7
?ﬂ%ﬁmmmﬁmﬁﬁﬂﬂ
(B) TN FTRE Bi s ffén
(C) mmmmm

f Israel has recently joined
th:tgéﬁlf xx?hat is the full form GFI CR?
(A) International Committee on Credit

He:

Reporting ‘ )
Ahmedabad (B) International Council for Credit
(B) The National Law University, Delhi Reporting
(C) The Indian Institute of (C) International Committee for Credit
Management, Ahmedabad Reserve .
(D) The Indian Institute of Technology, (D) International Council for Credit
Delhi Reserve
13 KM3
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8. W g e Pl # @ | 91, g & g, GO ot e e
ﬁfnaaﬁaﬂaﬁmﬁaﬂaﬁmﬁwﬁ e R T M
et w2 8 7 A 1 A o |
(A) duhi ) v A (B) T3
(C) FHwet (D) wifém (C) amfam (D)

According to Rishi Manu, the tract
Khashaba Dadasaheb  Jadhav had between the old sacred rivers Sarswati
become the first Indian to win an and Drishdvati was known as __.
Dlymmc medalq in  which of the (A) Brahmavarta (B) Indraprastha
:ﬂﬂg“‘lﬂ sports (B) Athlet I (C) Varnavat (D) Taxila
wimming etics
(C) Wrestling (D) Shooting 92, g az-fasm @A (NIO) #1 @Ay
fmfaﬁn dafemmmmd 7
88. iferam Frafaw it & wraa (aiw) 6 #ifer, #re
e o ferg wer wel gan a7 mvﬂm T
(A) TR (B) gad (C) AT (D) A8 (C) E?k L m
Where the conference for establishment (D) A9, AT TE
of the Organisation of the Petroleum The National Institute of Oceanography
Exporting Countries (OPEC) had taken (NIO) is having its headquarters at
place ? whicll'euf]:hcﬁfoll?“ ing places ?
(A) Baghdad (B) Dubai (A) Kochi, Kerala
(C) Qaﬁ" (D) Tehran (B) Dona Paula, Goa
(C) Mumbai, Maharashtra
89, YA # UEaA faaifam & (D) Visakhapatnam, Andhra Pradesh
sfusiies wm Fefafea T d wmdid 7 o
, ) 93, frafafas 4 8 e wim == &=t
(A) 3 (BY e i"ﬁgﬂ‘ﬂtﬁﬂ*ﬁr'mw
(©) f&d (D) #feamret forft ot 7
Which of the following is the official (A) TE=zATg 3R (B) =N #TeEa T
iz::r;gl._?tagc of India’s first planncd modem % GGG (nt] LG m‘rml ﬁ:im
ich one of the following Indian
(A) English (B) Punjabi Freedom Fighter had written a book
(C) Hindi (D) Haryanvi ?;T%;Hinu fn:hS_Flr-Culturr“ 7
indranath Tagore

90. fr=fafaa & & f::a& mr;hn ; % Iin:a hajpg R:n]i
IR B, A WA & Upafe 7 3w ala Har Daya
,ﬁﬁmgﬁqﬁm ? " (D) Bal Gangadhar Tilak
(A) fég w1 fatas 94, I TCTSHENT 1 AT FATFY, 1 FT= FFL,
(B) 7&= fiy % fae mETETR A SrEA R |
(C) dréfieag (PEPSU) fafiai faidaes (A) TN ATSHER
(D) WTelta grper (i) ferdres (B) WEHITE SETEHEA

; (C) |81 SeTensay
The only instance when the President of
India exercised his power of veto related () SRR
to which of the following ? Give name of the strait which connects
(A] Hindu Code Bl“ the Java ?:ﬂ to th: Indian ocean.
Sba (A) Strait of Formosa
(B) Dowry Prohibition Bill (B) Strait of Bosphorus
(C) PE!l’SU Appropriation Bill (C) Strait of Sunda
(D) Indian Post-Office (Amendment) Bill (D) Strait of Malacca
KM3 14 - ©



(A) God of Fire

ﬁa} God of Food Grains
C) God of Wood
(D) God of Forest

Pl I B TR 9B Ty W ¥ 3w
AR : (¥, 96-100)

wra et ot =afth 1 v arem s 2 A T
Hn wva TE @ T R | R Rl adi s
Aty TA-TaTal A T -T R R E W
= i =l 8 T R R S v -gEt W o,
h! FEAdl I, IR TSI - AR Y
e, SrEEl B wwE ¥ | e 3w 1w
st sifers srett R, 7R g o el e o,
7 a1 fermoura w1 T § | w@nh R A
e 3 3R e e o e @
T IM A | 9w g3 wa o1 B Rafm wwi-
Averdl & e darg B @ =R | 3 Rl -
ARl ) IrrRETer w AR 3R @i
T A | @ S e aififs s & i
e wenfie e & gant 8 3R ot 6w @
ot =R ¥ feg 4 1 3 @@ 9,
T2fa Bt e & afv w- A w

(C) 74 wfi 4 fiam v o =) 0
T wen wiven fEm and
%;ﬂnﬂtwmﬁmm1

98. ‘Tl faewre W W = A & o
A FR-Frem # 33w & v o
& |* ST T WHR R
(A) Taf¥a amm
(B), BT AT

of s

99, w*ﬂm‘ﬁ-ﬂm*h“i
e =1 fraw arfe——

(A) mﬁwﬁxmmtl
By v T & 3R -l @
JrE w3 mnEs R
(©) W W § R o wen
w0 W A d

I

100, wR wififs ag‘m*""“'ﬁ“ e & fire
7
(B) mﬁmﬁmuﬂmml
(C) v # uw ? wifirs wififes frvaral w1
AT |
(D) Tros =il W s w5 |




